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T H2ZEHN HM-OIF EfSHYEIHZA)

544 FejuST oSHn

kO

o AIHAIHAl Fef uSE oFZn, He[V7ISEZunSE2 2030 54,185CH/, 20454

< 7t e wSE oSz >
(Thel @ oh/e)

5 A 91ZHkm) 2030 2035 20404 20454
A|SH2HIC~20]|=IC 3.75 49,910 49,452 48,377 47,099
L0|=IC~HEEIC 3.77 65,080 64,957 64,041 62,987
=HEZIC-E=JCT 7.88 49,396 49,179 48,625 47,624
S=JCT~0LC 240 58,736 58,849 57,524 55,691
oC-ZHF 2.00 55,067 55,236 53,851 51,793
He|7 158 nSE 19.80 54,185 94,019 53,120 51,849

A

)

< SHIE 1 (20454 7|&) >
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% S0, 2019, BERSL | o $=A

o DleiT7io| AEY DSYS (2018 EENSY
H22EHM (A RIC- R BHC- SR EHC), 22 2IM(

o
SYAIEAJCT-EH2LICT), HEIASM(S

A0 IC~ = HHC~ZREICT) 2| XS] 2] Hmdts XE35t0] 0| E5Rict.

<AS | >

(EH] - o/

3 £ A
7 e &8% | B2 & A
2% =3 i
PRSI
(A|RIC-HIZHC-2AIZHC 75,107 712 28,760 14,184 4,102 122,865
HMozolM
(ZBIAIEALCT~812lUCT) 40,145 3,674 7,010 1,658 253 52,740
HEYAISM
(S A FEIC-oHAHC-ZXHICT) 73,509 3,780 35,208 21,039 6,330 139,866
2%l 188,761 8,166 70,978 36,881 10,685 315,471
AHEH|E 59.8% 2.6% 22.5% 11.7% 3.4% 100.0%

< T XEY nS¥ olEZa - 20304 >
(Ehe] @ th/e)

3 2 A
7= 524 E{A A

oS- =3 ch&
AlSH2HIC~20|=IC 29,864 1,292 11,229 5,835 1,690 49,910
QO|=IC~HEEIC 38,941 1,685 14,642 7,608 2,204 65,080
HESZIC-EEICT 29,555 1,279 11,114 5,175 1,673 49,396
£ JCT~0HC 35,145 1,520 13,215 6,867 1,989 58,736
OIHIC~-BHE 32,949 1,425 12,390 6,438 1,865 55,067
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FEA H2E B OHM-QIF EISHEBIIHEA)

< T ABY D5 0|5Z3 - 20354 >
(The @ cf/ed)
8 2 &
7 e £8% LES e
A3 =4 chs
AlEt2HIC~20]=IC 29,590 1,280 11,126 5,781 1,675 49,452
Q0|=IC~=HEEIC 38,867 1,681 14,615 7,594 2,200 64,957
HEEIC-ESEICT 29,426 1,273 11,065 5,749 1,666 49,179
SZJCT~O2HC 35,212 1,523 13,241 6,880 1,993 58,849
olHC-Z38=F 33,049 1,430 12,428 6,458 1,871 55,236
< T ABY DEY SZI - 20404 >
(Ehe] @ cf/ed)
8} 2 &
78 S84} CES e
oS =3 ches
AlEH-f2AIC~20(|=IC 28,946 1,252 10,884 5,696 1,639 48,377
QO|=IC~EHEEIC 38,318 1,658 14,409 7,487 2,169 64,041
HEEIC~-ESEICT 29,094 1,259 10,940 5,685 1,647 48,625
SZJCT~OHC 34,420 1,489 12,942 6,725 1,948 57,524
olC~-538F 32,221 1,394 12,116 6,296 1,824 53,851
< T2 AZE DS 0ISZT - 20454 >
(E49] - cH/2)
8 2 &
7 2 S84} EIES 8t A
A~ =4 ches
AlEiLt2HIC~20]=IC 28,182 1,219 10,997 5,500 1,595 47,099
Q0|=IC~EHEEIC 37,689 1,630 14,171 7,364 2,133 62,987
HEEIC-E=JCT 28,495 1,233 10,715 5,568 1,613 47,624
SEJCT~0F2HC 33,322 1,442 12,530 6,511 1,886 55,691
olC~-538F 30,990 1,341 11,653 6,055 1,754 51,793
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C}l. Screen Line 24

o Screen Line BEAIZIT} 20351 7|= O}QHC~EX F7} mEZF 55236CH/Y = 2=
Screen Linee2 AZX3H 67 =Z0A 75%Q2! 41,452cH/Y, O 2| LIHX| =Z0iA]
13,784CH/2 0| F&t=l Zio2 EAME[QIC

.
< Screen Line EAZ 1} - HE£(20354) >

(]« o/
E2 | XY 'zt OJAIMAIA) | AJRAIB) | SZB-A
1 E77S (ot 2) 98,180 89,640 -8,540
2 M2 1M (EHlICT~=ZEIC) 27,002 18,997 -8,005
Lo 3 O|FEHE(EEEE) 73,842 71,094 -2,748
4 A [ ==Y 85,926 82,427 -3,499
5 SHE=Z 83,501 79,790 -3,711
6 GSMMEICT~EZICT) 141,120 126,171 -14,949
pei=rZHotIC- ) - 95,236 55,236
2 509,571 523,355 13,784

\SETHEA S Q

RN

“} ,\\\ V/ /.7:
L LA
Q8 3
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FEA H2E B OHM-QIF EISHEBIIHEA)

2) SME 24
o Screen Line EMZA1} 20351 7|& AISHICT~AlSILZHIC 72t wWSEF 39,572Ch/Y & &
MZ Screen Linee2 ME3$H 67§ ==20iM 73%°1 29,028cH/, 1 2| LIHX| =Z0M
10,544c/Zo| MetEl Zdo=z M=

< Screen Line EAZ 1} - SM=(20354) >
(THe] - oH/eY)

2 | XY Tzt OJAIYAIA) | AIRHAIB) | SZB-A
1 M2 2l(ZeHC~E=HSIC) 123,120 113,844 -9,276
2 HIFCHE(MEE) 76,967 64,214 -12,753
3 stz 43,725 41,696 -2,029
SME
4 TSNP EAAE~IRTG(HI3Z D) 75,756 75,165 -591
5 STTSMMaletR) 69,412 63,140 -6,272
6 TE7TSM(SEROE) 34,037 35,930 1,893
DATZHAIZHCT ~ AlStf2HIC) - 39,572 39,572
Izl 423,017 433,561 10,544

\\‘l \

) ) ~ X = vk
< Screen Line X|ME - SM=
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2f. Select Link &A1

£ 0|8sts ez EME[ALE 53], AMAIE 7IH
o2 sh= WsSE0| 314620/ +F2 Aoz EME0], MA S| 48.4%7t 2l

Z} Selected Link £4(20354 Z|&) >

r

| oEZuA | oEZeA | o s | 27 | 2= -
T 52 | axn | TE Gzh | omn | o - <l 2
R 0 0 24 356 2761 | 295 | 4145 | 10241
aal o 0 18 | 2037 | 3949 | 3415 | 4067 | 13486
olFAl JIEt | 329 20 2210 | 1127 | 1683 790 1567 | 7,735
Wiz NEA | 433 2665 | 1538 0 0 523 0 5,159
2l oAl | 2414 | 3997 | 1838 0 0 125 0 8674
#ol= ot | 3381 | 4068 | 920 383 220 111 136 9,219
7 9 2384 | 4212 | 1724 0 0 123 0 10,443
s | 10941 | 14962 | 8281 | 3903 | 8613 | 8342 | 9915 | 64,057
} ===k &
I =
ﬂ-i 1R 5 — Mor, fe
- L B L 7
[ | s
‘i . & =
il 3

B

y
v \ f g 2R
# 4 - . i =
| 1 e
;
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T H2ZEHN HM-OIF EfSHYEIHZA)

M
o
N
[
Hu
A
IS

M

=it

oIE F7
Zet x|

5], QIFA|

LI WLy

E|0, X SazFe| 74.4%7}1 2l

Fabr desl] sland)

(Ehel : oh/2)
_ | ommoiAl | oldmen | @le | Zz | 2= _

T 52 | axn | TE (zh | omn | o oL B A
ﬂﬁ;f“ 12,727 810 1727 174 876 620 1590 | 18533
aagEA | e 0 4,344 0 0 262 | 211 | 8005

[
olzAl 7EN | 2498 | 2921 | 4260 | 1708 | 2338 | 150 | 1991 | 17.254
W= ABA | 222 0 2274 0 0 627 0 3123
20I= oAl | 1.421 0 2 447 0 0 M1 0 4279
77|z el | 550 834 1829 488 252 290 379 4,622

3¢ 1497 % 1137 0 0 304 0 3033

st 7 19673 | 4660 | 18027 | 2370 | 3466 | 6422 | 4231 | 58849

Blich
Ve = < Wl il g ) i ) | "\_.__.\__t
H ,I_j iH
e . \
e y ]
a o d—%li—? :h.. el
e -~
L 'j 2
0 (]
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X 58 BETL 0F

(GHe| @ cH/ed)

== PNES) -2t 20304 20354 20404 20454
1 Skl JCT ~ 28HC 74,683 74,766 74,751 74,779
2 2sHC ~ =SIC 114,107 113,845 112,354 110,150

H2Zel
3 =H=EIC ~ MZECT 171,114 170,612 168,258 165,629
4 MZHCT ~ AINIC 77,560 78,818 78,438 77,212
5 MZECT ~ &2JCT 128,045 126,171 123,630 121,340

s
6 ZJCT ~ ZXRKCT 107,234 106,279 104,085 102,632
7-1 EMOIEIC - A|lSHCT 78,637 77,911 76,934 75,052
HEIAISM 7-2 AISKICT - OHAHC 37,872 38,340 38,744 39,229
8 =HOMAHC ~ ZXKICT 40,693 40,043 38,979 37,847
CHM2=EMM | 9 =HXelC ~ SHE(ZEHC) 44,613 46,372 46,536 45,967
77&M 10 olci=2(s3sHIC ~ =:IC) 88,951 89,640 88,664 87,277
HM[2ZAel 11 SOl JCT ~ =&IC 18,829 18,998 19,576 20,863
12 £E|C ~ Qe AP E| 41,919 42,872 43,632 43,156

7715M
13 | RIS ZAAZ| ~ TRTGH3Z D) 76,619 75,165 73,618 70,123
14 ofaiic ~ - 55,067 55,236 53,851 51,793
15 L JCT ~ of2he 58,736 58,849 57,524 55,691
16 G ~ £EJCT 49,396 49,179 48,625 47,624

AL A
17 QO|EIC ~ &I 65,080 64,957 64,041 62,987
18 Algtt2HIC ~ 20]=IC 49,910 49,452 48,377 47,099
19 AISHICT ~ AlSff2HIC 40,765 39,572 38,189 35,822
775M 20 Q0|E ~ OHARA| 36,305 35,930 34,955 34,158
21 M&JCT ~ ==IC 219,423 219,828 217,786 214,536
22 Z=IC ~ SUIC 221,833 221,664 219,203 216,569
2| 2k=2tM 23 =LHIC ~ A=EIC 222,779 222,339 219,449 215,027
24 ZEIC ~ AIZIC 143,306 142,948 141,310 138,330
25 AlZIC ~ oFHJCT 124,950 124,598 123,139 121,228
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FED 2R OHN-OIF EISHEBIIHEM

2) Ml FHERZ S LU MH|A =2 BN
o HMeff FHEZe| 2 Y MU|A =F BN Zu= CoZa 2L
&gl FHERZ E8F % MElA £=F 24 Z3t >
2030 20354 20404 20454
E= P s A2
V/C | LOS | VIC | LOS | V/C | LOS | V/C | LOS
1 Skl JCT ~ 28HC 6 047 C |047| C |047| C |047| C
2 28lC ~ HsIC 6 |072| D |072| D |071| D |070| D
H2Z4el
3 =HSIC ~ MZERCT 8 |081| E |081| E |080| D |078] D
4 MZHCT ~ AIFIC 6 049 C |050| C |050| C |049| C
5 MZACT ~ &=2JCT 8 |061| C |060] C |059| C |057| C
M
6 22JCT ~ 2XRCT 10 |041| B |040| B [039| B |039| B
7-1 ESMOLEIC - AISKCT 075 D |074| D |073| D |071] D
HEIAISM | 7-2 AlSHC - HHOIAHC 4 03| B |036| B |037| B |037| B
8 =HOMAHC ~ ZXKICT 6 |[026| A |025| A |025| A |024| A
A 9 =HAEHC ~ SE(EEHC) 4 042| B |044| B |044| B |044| B
775M 10 ot Z(S3HIC ~ SHIC) 8 042| B |042| B |042| B |041| B
22l 11 &olJCT ~ =2&HIC 2 1036| B |036| B [037| B |040| B
12 £E|C ~ Qe AP E| 6 026 A |027| A |028| B |027| A
77S5M
13 QU= AIAE] ~ DRITGAHQI) 12 1024 A |024| A |023] A |022] A
14 ofaic ~ - 4 052 C |052| C |051] C |049]| C
15 £ JCT ~ of2diC 4 |05| C |056| C |055| C |053] C
16 =ESEIC ~ SZJCT 4 |047| C |047| C |046| C |045| B
AL
17 QO|EIC ~ &I 4 062| D |062| D |061| C |060| C
18 Algt2HIC ~ 20|=IC 4 |047| C |047| C |046| C |045| B
19 A|ZHCT ~ A|siLfzHIC 4 039 B |038| B |036| B [034| B
775M 20 QO|E ~ OHARA| 8 017 A |017| A |017| A |016] A
21 MZJCT ~ &=IC 8 104 F [104| F [103| F [102| F
22 ==IC ~ SUIC 8 |105| F (105 F |104| F |103| F
Qa=5tM | 23 ZLHIC ~ A=EC 8 106 | F [105| F (104 F |102| F
24 2=FIC ~ AIBIC 8 |068| D |068| D |067| D |066| D
25 AlEIC ~ oFSJCT 8 |059| C |059| C |058| C |057] C
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FED 2R OHN-OIF EISHEBIIHEM

o AIGAIYoZ FHEZRO| NS AR, 3|, HHHC~ZANCTS| WS
55,645CH/20IA 40,043CH/LZE2 2 AIKFL=MOZ2 nESE Mo 2 2lsto] JHE Bo|
Uashks Aoz EMEACt

o 2at=3tMol AR = AP M A[SA| 1,996~2,871CH/L, 1.1~2.0% ZAsH= 2o =2
Mo, 2T=EMOM 2 AgMoZol nESY ME2 0j0st He=
EHCEIC

< EE| FHEZ nEL HE >
(Etef - oi/ed)
- - =y 20354 mSE (ch/L) ZZt (Al-O))
OJA|&Y A | DS2HCH/Y) | S7H2(%)

1 &kl JCT ~ 28HC 88,667 74,766 -13,901 -15.7%
- 2 2shC ~ Z4SIC 123,120 | 113,845 -9,275 -75%
3 =HSIC ~ MECT 181,771 | 170,612 -11,159 -6.1%
4 MZERCT ~ AIFIC 82,486 78,818 -3,668 -4.4%
- 5 MERCT ~ 22T 141,120 | 126,171 -14,949 -10.6%
6 HICT ~ ZXKCT 120,549 | 106,279 -14,270 -11.8%
7-1 SMOPEIC - AlSHCT 77,911 9,515 13.9%
HEASM | T7-2 AlBHC - =HRHAC 06,390 38,340 -30,056 -43.9%
8 HOFAHC ~ FARCT 55,645 | 40,043 -15,602 -28.0%
S Mg 9 HAEHC ~ SE(HEHC) 36,145 | 46,372 10,227 28.3%
T75M 10 OfACHZ(S3HIC ~ SIC) 98,180 | 89,640 -8,540 -8.7%
H2Zel 11 80| JCT ~ 2&IC 27,002 18,998 -8,004 -29.6%
12 LEIC ~ QAT AIE] 45133 | 42872 -2,261 -5.0%
T15M 13 | L=AAE| ~ DETGH3ZERD | 75,756 | 75,165 -591 -0.8%
20 Q0| ~ QA 34,037 | 35930 1,893 5.6%
21 M&JCT ~ == 222,553 | 219,828 -2,725 -1.2%
22 SSIC ~ BLHIC 224,149 | 221,664 -2,485 -11%
oateste | 23 SUIC ~ &=HC 224,760 | 222,339 -2,421 -11%
24 A=FC ~ AIBIC 145,819 | 142,948 -2,871 -2.0%
25 AIZIC ~ oFsJCT 126,504 | 124,598 -1,99 -16%

14 ofelic ~ EH - 55,236 - -

15 £SEJCT ~ of2hc - 58,849 - -

St 16 SRS ~ SZUCT - 49,179 - -

17 Q0[|EIC ~ HEEIC - 64,957 - -

18 AlEILZHIC ~ 20|=IC - 49,452 - i

19 AIBRCT ~ AlsfLf2HIC - 39,572 - -
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23 2B OMHA-OIF EFSHA T IH(FEAL

o 2 ] o|MAt=ZQl “=dH M2zet DRE2(QHM~IM) A
GE=AL EOM” o] WSFR0E ZE

< FR0ISZ0 Hla >
(TH2] @ oh/)
O X}
T= EE;; 20304 20354 20404 20454
OflHEIEHY ZA} (A)” 20.04 50,432 50,676 50,159 48,867
ElStA "It B)7 19.80 54,185 54,019 53,120 51,849
B-A - 3,753 3,343 2,961 2,982
H| o
(B-A)A = 7.4% 6.6% 5.9% 6.1%
F 1) =M A VS ET usSEY
(Er9- =0/ E)
65 8.0%
74%
6.6%
60 5 a9 s
= 6.0%
55
| o
4.-\\- = 4.0%
50 T " e
= 20%
45 I
40 = 0.0%

20303 203549

20453

Bl @&

—+=0E|Eted EAHA)

=E-E5dE7He)

<

TR0 = Hlu >
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AT FILBIM OIA-OIA EIS

HSBIHEA

< AEEE2 7[EAZe] Mu[2aE >
A= (120km/A) AASE (100kn/A) MASE (B0kn/AD
ol
Mol | sgsiim | m=2 | @S2y | asz | aswo | sz | s
T E | xm | GBAA | 8mH | SBAYAl | 8| | @BRA | 82
A2 | WO Ix2) Vo | AR | o
A <6 <700 <0.30 <600 <0.27 <500 <0.25
B <10 <1,150 <050 <1,000 <0.45 <800 <0.40
C <14 <1,500 <0.65 <1,350 <0.61 <1,150 <058
D <19 <1,900 <083 <1,750 <0.80 <1,500 <0.75
E <28 <2,300 <1.00 <2,200 <1.00 <2,000 <1.00
F >28 . . . . . .
7292 =g N MHlAT
AAE E2sE J_.lj.z.ﬂ 2013, EEoH
2) M7 Mu|A%E
o M| MulAREO|Z SHAE, SHAZ, SURRE, o2zt U IS 5 =29
SHUNEIE Musls 2o2 SN A~FIIX 65302 LigC
o TleiTiel MHIASES HESIE S BUAEA HAH

= — [ Y -

=0 w2t E&Fe| Xfo|7f LSt
o EE2H MAMH|ATZE [EZEZWHEF 2013, ZENYE | M HAIStT U=
ME|ASZS 71222 51920, X[ mE 8™ ol MH|ATZ=2 Ct21 2O}
< E2Y MA MU|ASE >

- 2 X g X oA = A X A
s = 2 C D
of H & = D D

A2 E2eFEEt 2013, 2 ESHLFFE

o HMFY MulATES AMS BTzl 47 U XAN SAo
TASS MUs| S 3 MAYIZOIM HEY MulatZEe

| w2t Z2E =0, of={et

2yt
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X 5& HIEFL o=

-

o B DTS IMBOIA|, AIBAl S EAXAE X|Ls TZoE ZAX|e 1hE
Melasz “D" & HBsict
< BUTZIO| MAMHIATE U MHlA IS >

—_

A MH[ASZE 2F LOS “D”
MH[ATSEF 1,750 pcphpl
VIC 0.80
Ch X=X ¥ SHRE
o AE2EE2 XZE FEXE THEAL SHUMAUM & SAHMIX|Q HE|E o,
Z0{7 Z2 HIZRAE BOMEFE ZoHSVHX[e] HE|E TSt
o RIHFYAl 0| Z0| &2 ZdF 2TXES2 ANE 2ol SEE =04 EH2=ZAM

o XA2E I ZLUFE AT [EE2SSHE, 2013, =T oM MAIE s

MBslgion, = HRIME MASEI} 100kmhol T SYRac Mx|, XHZE 36m
oh=7txlel 74zl 15m of Ase 102 =Esisict
CHEE U Z0IRE BEAS ME >
o siolol ZY0iest EoE A2 ool Zoinst shgl HS?

oo = A2 (m)

(m) 35 o|at 3.25 3.00 2.75 3.5 OAt 3.25 3.00 2.75
HEEE 2x2) 1age

15 o|at 1.00 0.96 0.90 0.80 0.99 0.96 0.90 0.80
1.0 0.98 0.95 0.89 0.79 0.96 0.93 0.87 0.77
05 0.97 0.94 0.88 0.79 094 0.91 0.86 0.76
0.0 0.90 0.87 0.82 0.73 0.81 0.79 0.74 0.66

6XIZ O|AHHZ 3XIZ o|ANQl D&

15 ofat 1.00 0.95 0.88 0.77 0.99 0.95 0.88 0.77
1.0 0.98 094 087 0.76 097 093 0.86 0.76
05 0.97 093 087 0.76 0.96 092 0.85 0.75
0.0 094 0.91 0.85 0.74 0.91 0.87 0.81 0.70

Az EEZEHEE 2013, FEHYF

T gEXoz F2E ¢5Y Hejo| SAEa oVt dX|E tFEES (IH)=27} siEE/Ct.
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< SAZ 2gAT >

= -+ <zt g A = = = cH & fuv

- " 122,865 | 103,867 | 14,896 | 4,102
T AS

TEIREES | Nac-dgeic-2etc 0914
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2 217} 1 601CH/Al/XI22 AP E|QIC}
MSF, = C x(V/O),
SFy, = MSF), X fyX fyy
= 1,750 % 100 x 0915 = 1,601 (CH/AI/AIR) (HX|F7ZH
MSFi = MH|ASZ OlM XI2E ZCHMH|A WSZHESEX}AI/XIZ, pephpl)
Ci =i &A%zl E2Hpcphpl)
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5
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MAMHIARSZ (SF,, CHAIAR) 1,601 2,013
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of. BATZ AES AE U MHIASE HA
o WA DEYT BUEAMEIE DSV 0lBsl0] BHT AZSE NI
N MU ARES 'D'E HBACI
o NSBEUSE M5HOS Ml EMTZ NE4 ABAT TH 20| L2 4X
27} Wosl oz HAsC
CEH A4 OF Y MHIASE B AT
AADT | PODHV | 22K(SFy) SNETEE | ey | MHETE R
TP e | o | AD) me | am || ve | s
20304 | 49,910 | 1,904 1,601 1.19 4 4 0.47 C
AlBHIZHIC | 20354 | 49,452 | 1,887 1,601 1.18 4 4 0.47 C
_C.’_0|~_'.:_|C 204014 | 48,377 | 1,847 1,601 1.15 4 4 0.46 C
20454 | 47,099 | 1,798 1,601 1.12 4 4 0.45 B
20304 | 65,080 | 2,483 1,601 1.55 4 4 0.62 D
20|E=IC 20354 | 64,957 | 2,478 1,601 1.55 4 4 0.62 D
.';.%—NEIC 20404 | 64,041 | 2,444 1,601 1.53 4 4 0.61 C
20454 | 62,987 | 2,403 1,601 1.50 4 4 0.60 C
20304 | 49,396 | 1,885 1,601 1.18 4 4 0.47 C
=HEZIC 20354 | 49,179 | 1,877 1,601 117 4 4 0.47 C
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—’éf—;é,' 20404 | 53,851 | 2,055 1,601 1.28 4 4 0.51 C
20454 | 51,793 | 1,977 1,601 1.23 4 4 0.49 C
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